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sin(x)+tan(x)
2+3*sin(x)

f=(sin(x)+tan(x))/ (2+3*sin(x)) = f:

A=int (int ('y/x"2*2"y/x"'",vy,-1,1inf),x,2,10)
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limit ('x+sin(x)',x,2) = lim,,_,,(x + sin(x))
2(@)2+3ﬂ+2 = 2y%y
dt? g T Ty
y(1) =2

¥(3) = 4
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A=zeros (5);
for i=1:5
for j=2:4
A(i,])=2*)72-2*1i;
end

a=3;
for k=a:9
if k<2 & k>0 | k==
disp('red")
a=a+3;
elseif k==2 | k==5 |
disp ('green')
a=atk;
elseif a+3<k
a
k
else
disp('blue'")
end
end

end
end




min=2;
max=min*10;
c=-1;
for a=min:3:max
b=1;
for i=1:a
m=mod (a, i) ;
if (m==0)
b=b+1;
end
end
if (b==Db)
c=a+b+i;
disp(c)
end
end
disp (c+b)

E=2

N=10;
Q=zeros (2,N+1) ;
for i=0:N
k=mod (i,4)
if (k==0)
x=(-1/4);
Y=X7
elseif (k==1)
x=(1-1)/4+1;
y=-(1i-1)/4;
elseif (k==2)
x=(1-2)/4;
Y=x7
else
x==((1+1)/4);
Y=x7
end
Q(:,i+1)=[x;v];
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